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2] y® + 125 = (y + 5)(y* — 5y + 25)
[3]4x% — 8x% +5x — 10 = (4x3 —8x?) + (5x — 10) = 4x%(x—2) + 5(x— 2)
= (x—=2)(4x2+5)

- o9lexadl JSEJI § X, @ doid u> (B
X va+81 =180 SHII £U L e
~a=180"—81" =99

N

X+ 2x =180 Gl U D



.
=
=

==
— =

p—
—
—_—==
===
—_——==
——

—
—_=
— =

= ]

§ 3 Uoyne gyl lgho Clog) 5 ol Sy Ayl (b b Wilog) 7 O ey 1 ) (A /5 e
Il U= 0o e iy 1 Jxll

N n!
Cr = m , N = 7,1‘ =5
. 7! 7! _(7)(6)(5!)=(7)(3)=21

5T51(7-5) 5121 (5D(2)(1)

3cm ko Jgb dasye dusldg 8cm gubdl aslalyl elaiio pyg) AU dluwllg duilond! d>lull U (B
HAE]

£ =8cm ,L =3cm
P=4XL=4x3=12cm 2 Lo

1 1
LA:Eth’:Ex12><8=6x8=48cm2 dilonll d>Lunal

TA=%P><£’+B 4SS i ol
B=LxL=3x3=9cm? & d>lus
TA = 48 + 9 = 57cm?

V8(VZ — V3) — 3V6 : izl Slue¥ § lilaall iy Jlaninnh &Y daiall Aozl Jawy (C
tdell
V8(V2 —V3) - 3V6 = 2v2(V2 - V3) — 3v/6 = 2v2 x V2 — 2v2 x V3 — 36
=4-2V6-3V6 =4-5V6

2 b oo (M ) dowameiall DY A5 (A /16 oo
PP (10) suall 8)gu0 OB f(X) = 3x —29f: Z > R: 0813 (1
a) 30 b) 25 c) 17 d) 28
(d) gs8 Slgdl 1 Jxll
f(10) = 3(10) — 2 = 28

n!

a)n! b) (n — 2)! cn(n-—1)! d)nn-1) P S9lud Y Jluiell dasd (2
() g oy 2ol
n nn-1)(n-2)! 1
-2 m-zr e
Dbk b) et Ol d) corse s 0950 Clisadl el Slsell pudtnal) (3
(a) g Slodl 1 ol
a) V2 b)2 ¢©5 d) V5 : Sl (4, 5), (3,4) cikaiidl o d3luned! (4
(a) g8 Qo 1l

d=+/(x2 —x1)% + (y2 — y1)?
d={/B-42+@-572=/(1)?+(-1)2=VI+1=V2




.
==
.
=
—
=

.

==
o

oV AWM g dawgin T T===_

=

by = 2+/(ay?)(c)
12y = 2\/(ay?)(36) okl auss

144y?
144y? = 4(ay?)(36) 144y? = 144 (ay?) ay? = 14Z = y2

36 —12y +y* = (6 — y)?



.
=
=

=

— —_ =
.

=

doladl CBlowioN deSIul disell!
Hawgiall 1 Ayl
Slplyl  Bolel!
A0 20 Jlge N . Jaid dliel dues e Col @ dasdle
3 o § Dglll @3B Edindl Jog £MBYI s (10 A(3,—4), B(5,—2), C(5, —6) dwghy S Ediadl £45 o (A //1 o
eyl . F(X) = X% OBV BAsB oI 3If: A > B AW ol B = {1,4,9,16} , A = {1,2,3,4} <5131 (B
dei&w&gwloidzoygwwh&a
Gb e cneyd oo el /72 0
LY ealiane e ol dsgazme Jhog |y — 3| < 4 duliiall J> degazme ux (A
00 dudiziiall dluadl SO JSaI dayye Al Catin (§ 3m daks Jsb JSEI aoye d>luw (29> oo (B
S dpdsedl als Job kd 40m? (o9l daisally ddsdsl

A(4,5),B(2,—3) ¢paidl jldl eudiusd) 5319all9 C(5, 3) daddb Hlod! puiiusd! dslas u> (C
{2x,x+1,3x+ 11, o} 1 WS Aol Olasbitald JoNI B Sgusdl Jaxd S x dosd u (A //3 o
§ duzyell dglll di e Jlasivwls X oyl duglyll olid > (B

4ol Bylhg — Byl &ygg0r
p 2019 — » 1440 Jo¥! 49!
Ololw EE 1 cdgll

: 3l low ol Wl (A 1/8 o

[1] 6Z3 —9Z% + 12 — 8Z [2] 5h? — 7v? [3]16Z%2 -8Z +1
y=x—4 (1) Wl R G JWI plal Jodl degae 4> (B
X=2-y (2)

QQLMJSJ doeieall LY A1 (A //5 o

a) 45° b) 60° c) 90° d)30°  : p 0 gl ded 0l csc O = 21 813 (1
a4 b)3 02 d1 B g;;i: el ol Aol (2
: 58 (42) Jldlias s s dasye U1 sl (3
a) S = {7,6) b) S={7,-6} ¢)S={-76) d) S ={-7,-6)

S M8 slally o aSlo e iw@‘v&ﬁ#&‘éée’@wwﬁﬂwa&ﬂ‘w&? (B
- dll> @ slodl eox e
Gb lee cneyd o ) /16 0
(y+2)(y* -2y +4):zbax (A
7.2cm ildl geldlylg 8em ks Job JSidl daye diusld Ul oyl duilondl d>lunadl 4> (B
o oS (e Bty £18)) 88 omas Jlail dr L sk WS (7)), s O1S'(8) <y @S (5) e g puS (C



e
.
.
—
=
—

.

—_—=

— =
—_——
—

N N R R R NN =

Gl o § Dyl @51 Clidl Jag ELYI Cu (0 A(3,—4),B(5,—2),C(5, —6) dwgdy Ul Cdiadl £5 o (A//1 o

v 1l
d=(xz —x1)? + (y2 — y1)? 3
AB=\(5-3)2+(-2+4)?=V4+4=18
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P=4xL=4x8=32cm? (( Anpo Busldll ) aosoll dasses
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Republic of Iraq — Ministry of Education Cf?? ( First Role ) June : 2019
Examination in Mathematics for Intermediate Schools S Time : 3 Hours

Note : Answer ( five questions ) only, ( 20 Marks for each question )
Assume the two mappings , f : Z - Z Where f(x) = 3x+ 1and g : Z —» Z Where g(x) = 2x + 5Q1/A.
Find the value of (x) if (f o g)(x) = 28
B . By using formule of distance between two points , prove that the points,
A(1,-3),B(3,—4),C(—1,-2) are collinear .
. A questions paper contains (12) questions, it is required to answer (10) questions. In how many Q2 /4
Methods can the questions be selected ?
B . Choose the correct answer for the following :
11 2y —3)2=? a)4y’-6y+9 b)y?+12y+9 ¢)4y*-12y+9 d)y*’+6y+9
[2]10x% —11x + 1 =?
a)(5x—1)2x+1) b) (10x+1)(x—1) ¢ (Bx+1)2x—1) d)(10x—-1)(xx—-1)
y?—-25 y—5
2y3—16 2y2+4y+8
B . Find the lateral area and the total area for a regular pyramid which its lateral height is (8)cm, and
The side length of its square base is (2)cm . N

Write the following expression in simplest form :Q3 /A .

Choose two only :Q4/

A . Find the terms between Ug and U, for an arithmetic sequence in which the third term
is(9)and d = -2

B . A box contains (3) red balls, (4) green balls and (5) blue balls . A ball was taken randomly, then it
Was returned and another ball was taken . Find the probability of taking red ball at first, and then
A green ball .

C . What is the value of the constant (k) which makes the two roots of the equation
x? — (k+ 4)x = —9 equaled ?

Q5/ Choose two only :

A . Find the solution set for the system in R bu using the method of substitution: y — 5x =10
y—3x=8

B . Use the theorem of the two tangents to find the length of AB in the nearby circle :

A
-
Oe- B
2x +11

C

C . Choose the correct answer : What is the slope of the line: 3x — 2y = —6
3 2 3
a) - E b) - E C) 3 d) E
Choose two only :Q6/

A . Find the image of the quadrangle where A(2,6),B(—4,5),C(—4,—8),D(—2,—12) under the
Effect of the proportion, its factor G)

Z-1
B . Solve the absolute value inequality then represent the solution on the of numbers : |T| >3

C . Find the numerical value for the expression : (sin45")(sec45°) — (tan 60")(cot30°) + 2 c¢sc 90°

07703153998 (1) % A el ks e Bl Sl
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gX)=2x+5¢uw=g:oA> A9 f(X)=3x+1¢u> f:Z - Z Oludaidl SJ (A//1
(Fog)(x) =28 : 0813 X deosd iz
L Bilg deliiwl (fe a3 A(1,—3),B(3,—4),C(—1,—2) : il Ol cudl (idaids o dBluad! 9938 Jlaminwls (B
¢ Al s Sey Alyyb (5 L Al 10 o= DYl Qgllandl Yiguw 12 o Ggioxd il ddy9 (A //2 o
t 3b oo S dononall LY 451 (B
1] (2y—3)2=- a)4y’—-6y+9 b)y?+12y+9 ¢)4y*—-12y+9 d)y’+6y+9
[2]10x% —11x+ 1 = - -
a) (5x—1(2x+1) b) 10x+1)(x—-1) ¢ Gx+1)2x—-1) d)(10x—1)(x—1)
y2 =25 y—5 vt (o
3 : 39 el o (A //3
2y3—16 2y2+4y+8

2cm Walos Jsb dasye Susldy Bem (gilnll delil)l plaiie pyg) 4l da-Lully duiland! d>lull w2 (B
dadd dl oo 21 /14 o

d =—-29(9) SIWIl u> dolus dasliiad 1y, 9 Ug o d9dddl ux> (A

- 40 B)S Cammang sl 03 Ldlgdis ByS dis S B)) WIS'5, s IS 4, ye> OIS 3 e gim Geie (B
.sb@éﬁﬁ&;b&iﬁwdl&bl.\?
€ (pglude X2 — (K + 4)x = —9 dolaadl Gd= Jassd I k ol dad Lo (C
dadd oudl e el /15 o
y—5x=10, y—3x=8  agadl ddyb plusuiwb R § padolaell Jo> dsgazme d> (A
A,  Byglmall B3Il 3 AB Jgb drg irwlaal! Lt Joaiuw! (B
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41 Byl — Byl duygger
£ 2019 — & 1440 ;pineis / JgVI Houl!
Olebo &6 1 3yl

2x+11
" € 3x — 2y = —6 paiiwndl Jio Lot domsuall a1 A4S (C
3 2 3
a)—E b)—g C)3 d)E
Jadd (il e /76 oo

% dolae Caulis 256 cox3 A(2, 6), B(—4, 0),C(—4, —8),D(—2,-12) : Cu> (£l Sidl Bygu0 4> (A

. Z-1 o
.Ald&}’lﬁ&wdsd:dl degozme Jiog |T| >3 Lol J= (B
(sin45°)(sec45’) — (tan 60")(cot30°) + 2 csc 90" : yluidall Lviall deudll u> (C
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gX)=2x+5¢usg:oA> Ay f(X)=3x+1¢u> f:Z - Z Oldmdaddl oSI(A//1
(fog)(x) =28 0513 X desd u>

sl
flg(x)] = 28
f[2x + 5] = 28
3(2x+5)+1=28

6x+15+1 =28

6x + 16 = 28 6x =28—-16
6x = 12 _12 4 2
X = X = 6 =
. B>y doldiwl (fe.ad5 A(1,—3), B(3,—4), C(—1, —2) : haddl O sl Gaidads oy ddladl 9938 Jbeasiwsls (B

HCS]
y

d = (X = x1)? + (y2 — y1)?
AB=,/3-12+(-4+3)2=vV4+1=+5
BC=+/(-1-3)2+(-2+4)2=vV16+4=+20=2V5
AC={(-1-1)2+(-2+3)2=V4+1=+5 5 4 3 2

M W RO

=

-11 @ 1 2 3 4 5
BC = AB+AC =5 +5 = 2V5 “‘3\ —
s b A
Bd=lg doliiwl Je 285 ABC Lasd! - . B

§ Al Hlos oSey dinyb 0S5 L dliwl 10 e DY Oglladll Vg 12 e (Ggiod il d8)9 (A /2 oo
3819l o3 Iy e (g Ayl : Sl

n!
n____ - —
12! 12! (12)(11)(100)
12 _ _ & o .
Co =Toraz—10y ~ 10121 ° aon@y o1 =66
: 3L e JSU dioniall LY A (B
[1@2y-3)?=- a)4y’-6y+9 by’ +12y+9 oO4y*-12y+9 d)y>+6y+9

(€) g8 le=dl 2 Jxdl
2y —3)2=4y?>-12y+9
[2] 10x% — 11X+ 1 = -+ -
a)(5x—1)2x+1) b) (10x+1)(x—1) ¢ (Bx+1)2x—1) d)(@A0x—-1)(x-1)
(d) g° Qlo=dl 1=l
10x? - 11x+1=(10x—1)(x—1)
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y“—25 y—5
2y3—16 2y%2+4y+8

: G i)l Jaw (A /3 0
L J=dl

y’-25  y-5 _ y*-25 2y*+4y+8 G FSy-5 257 F2y+H
2y3—16_'2y2+4y+8_2(y3—8)x v+5 2y 2}(513—+r2y4f47 ¥¥5
y—5
y—2

zcm L@.’.L,a Jeb auu,a 4:..\:1.9_9 8cm ! 4;L;uJ| ‘mb.wo ‘a,.eJ adsdl 4>LMJ|3 ml:dl 4>LMJ| 4> (B

£=8cm ,L =2cm
P=4XL=4X%x2=8m 2 ke

1 1 o raprs gy &
LA=EP><t’=i><8><8=4><8=32cm2 el dtded!

TA=%PX£’+B ASSIP !

B=LxL=2x2=4cm? ad>lus
TA = 32 + 4 = 36¢cm?
=]

u3;=9 , n=3 , d=-2 , a=?
u,=a+(m-1)d 9=a+@3-1)(—-2)
9=a—4 a=9+4=13

U =13+9-1)(-2)=13+(8)(—2) =13 -16 = -3
up=13+(10-1)(-2)=13+(9)(-2)=13-18=-5
up =13+ (11-1)(-2)=13+(10)(-2) =13 -20 = -7
{3 -5, 7} das il
Mboﬁmg umlpwlwoJSMumw)ubSS _,,a>u§4- puﬁSd&dw@gm(B
.sﬁbﬁpcﬁbﬁwdwlk
o
(5+4+3=12) S Sl sual

elyasdl O, Sl sue 3 1 ¢l pasddl Ol S sue 4 1
P(R) = =S =—=-, PG= ©bs) - — &
oSl S sae 12 4 LS S sue 12 3

P(Rand G) = P(R) x P(G)
1 1

1
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€ owsludie X2 — (K + 4)X = —9 Aslandl Gy Jaz @1 k ol dasd b (C
0 = el OS13 Cmglude dolasl! g“SJulP.' 09 1 =l

x2-(k+4)x+9=0 a=1 ,b=—-(k+4) , ¢c=9
b%2 —4ac=0

[-(k+4)]*>-4(1)(9) =0 (k+4)2-36=0
(k+4)?=36 o8l sl )il it

k+4 =146

L k+4=6 k=6—-4=2

J k+4=-6 k=-6—-4=-10

oagadl Al b aldstiwl R § cadolaadl J> dsgazme dx (A /5 (w
y25x10-—(@) , y=3x=8--(@)
t e oz (@) Dolao oo : Sl

y =10 + 5x (©)

(@) Vsae 3 (@) Volae o923
10+5x—3x=8 2x=8-10
2x = -2 x=%=—1

(@) Voo g x = —1 dad o925

y=10+5(-1)=10-5=5 S ={(-1,5)}
- Byglmall 8511 3 AB Jgbo drg crwlonl! Lo Joaiw! (B

Ll

AB=BC  wlosl dinpe

4x—-1=2x+11 4x—-2x=1+11
12
2x =12 X=?=6

AB=4x—1=4(6)—-1=23

ool Y1 S (C
§3x — 2y = —6 puitinddl Jo o
(d) g0 Qlgxl Sl

a)—g b)—g 03 d)g

3x—2y=-6 2y=3x+6 }+2
3

y=gx+3 EIEA

y=mx+Kk
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§ Aolas oalls 5 5 A(2,6), B(—4,0), C(—4,~8), D(=2,~12) : o (£oll Sl 1900 52 (A 116 0
e

(x,y) = (Mx, My)

A(2,6) = A’ <% X 2,% X 6) =A <%,;)
1 1

B(—4,0) =B’ (Z X (—4),3 % 0) — B'(-1,0)

C(—4,-8) =C (% X (—4),% X (—8)) =C'(-1,-2)

D(=2,-12) = €' [ 2 x (=2), 2 x (-12) | = D’ (i —3)
' ST \4 "4 B 2hs

¢ 7-1 .
.AMQB"‘Q.{.E.‘LM&J::" degaxoe Jiog |T| > 3 dulid J=> (B
=]
Z—1>3 TZ—1< ¢
R } XXX XX
Z-1>12 J Z-1<-12 X X X
3; B —i—— } e e ] ] ] —_ =
2>212+1 5l Z<-12+1 17 14 11 -8 5 -2 1 4 7 10 13 16

Z>13 ¢ Z>-11
S={Z:Z>13}U{Z:Z< -11}
(sin45)(sec45’) — (tan 60°)(cot30") + 2 csc 90" : yliol Lduall daudll ux (C
} do bl Adliadl Candd! @ s Jgundl (o 1 e

in45° = as=—2 -1 5 60° =3
Sin _\/E , SecC _COS45°_L_ ,an =
V2
.1 1 WVl
t30° = = =3 ,csc90" = ———— = =1
co tan30°  _1_ ERT sin90° 1
V3

Jluiel = (sin457)(sec45) — (tan 60)(cot30°) + 2 csc 90°
- (\/_%)(\/E)_(\E)(\Ehzu): 1-3+2=0
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Republic of Iraq — Ministry of Education 3 ( Second Role ) June : 2019
Examination in Mathematics for Intermediate Schools R Time : 3 Hours

Note : Answer ( five questions ) only, ( 20 Marks for each question )
Write the first five terms foe an arithmetic sequence in which the sixth term is (4) and the commonQ1/A.
differenceis (—3).
B . By using the formula of midpoint, show if the points, A(—3,5),B(2,7),C(1,9),D(—4,7) are
vertices of a parallelogram .

In the nearby triangle if AO, BO, CO are bisectors of the angles A, B, C find mzxQ2/A .
4)

/4

8C

B . Choose the correct answer for the following :

[1] 25Z2 —10V2Z+2=? a)(5Z+ \/E)2 b) (5Z — \/E)2 ©) (5Z+2)% d) (5Z — 2)?
[2] 8y3 + 27 =2 a) (2y + 3)(4y? + 6y + 9) b) (2y — 3)(4y% + 6y + 9)
) 2y + 3)(4y* — 6y + 9) d) 2y — 3)(4y* — 6y + 9)
What is the value of the constant (k) which makes the two roots of the equation Q3/A .
y? + 25 = (k — 2)y equaled ?
5! 6!

X

3I1x1! 5!x4!

B . Find the value :

/ Choose two only :Q4
A . By using the theorem of circular quadrinomial , find the measure of
unknown angles c, d in the nearby figure .

B . Write compound inequality shows the range of the third side length in the triangle which has two
Known - length sides : 7cm , 12cm , xcm
C . Write the missing term in the algebraic expression to become a perfect square, then
factorit:5 — --- -4+ 16x2
/ Choose two only :Q5
4 5 8Z
702 T3 T 720
B . A rectangular — shaped carpet, its length is (12m) and width (3m). It was divided into parts to
cover the floor of a square — shaped room . What is the side length of the room ?
C . Choose the correct answer : Which slope expresses the slope of the line which passes through the
Twopoints (—1,5),(5,-2)? a)> b)— o= d):
/ Answer two only :Q6
A . Find the solution set for the system in R by using the elimination method : x + 2y =5,3x -y =1
B . Prove the following : sin 45 sec45’ + csc45 cos45 =2
C . A box contain (3) red balls and (3) green balls, what is the probability of taking two green balls
without returning the first balls ?

A . Write the following expression in the simplest form :

07703153998 (1) % A el ks e Bl Sl

R ——————— e




—
=
=

—

—_ =
. —_—=

Aol Uloeied daSIull dasell!
dawgiall @ duwlyd!
Sl 2 Balell
A0 20 Jlge N . Jaid dliel dues e Cl @ dasHle
(—3) wlwly (4) pwoludl BU> dulus daslie J oY dunesddl 39dedl ST (A //1 o
- MY (Slgne wedy A(—3,5),B(2,7),C(1,9),D(—4,7) : Wl Jaddl i Caaiindl 956 Jeaiwl (B
. X dasd 4> A, B, C Llgy)l Wlasaie AO,BO, CO : 05131 yglmall Cliall 3 (A //2 o

41 Bylhg — Byl duygger
£ 2019 — » 1440 cyieie / JUI 59l
Olel &Y 1 gl

45°
B 8 C

P 3L e S downall LY A5 (B
(112522 —10v2Z+2 =7 a) (52+2) b)(52-+v2)" ¢ (52+2)? d) (5Z—2)?

[2] 8y3 + 27 =? a) (2y + 3)(4y? + 6y +9) b) (2y — 3)(4y? + 6y + 9)
©) (2y + 3)(4y* - 6y + 9) d) (2y — 3)(4y* — 6y + 9)
§ Gwgluie y2 + 25 = (k — 2)ydslasl g Jaod @ k cold! dod Lo (A //3 o
5! « 6! ‘“*A:*:’*" (B
3Ix1! 5!x4!

dndd sl i1 //4 e
 y9lmell JSCAJN 3 A ggzmall Llg3ll (ulid uz (S5l (£Ly)1 didpo Jloaiasls (A

7cm , 12cm , xXcm ke § W alall Jgb s ad Ay diulie S| (B
5 — e 4 16X2 1 dll>g Yol sy zaad ax? + bx + € P Gl Hldal § agiidadl uadl st (C
dadd (neyd pe 2l /15 oo
4 5 8Z —
o b 3Ll casi (A
| ; CZv2tzosTEoz-e ¥ 3L gt .“(
Jobo Lo . JS&J1 oo 8,2 Aoyl i) eliad I Canlad 3 o9 12miglobs Asbaiane dloeas uSge dakid (B

. Adyall Al
(—1,3), (5, —2) owdaddb Hlo)l eudtens! o & Ar dao (ST 1 domonall DY s (C
5 5 -5 6

hadd cpnesd o 21 /16 o
x+2y=5,3x-y=1 :di:dllif,b‘alaﬁu\gRép&m&aswda(A
2sin45 sec45 + csc45 sin45 =2 : Gbb ci (B
§ oY1 8,01 Balel 093 (e pas (15yS e JiT e« pas- SIS 3, slpes O1)S' 3 dud Gauine (C
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——— e e e R,

(—3) wlwly (4) pwoludl Bu> dulus daslite J oY dunesdll D9dell ST (A //1 o
Lol

u=4 , n=6 , d=-3 , a=?
u,=a+(m-1)d
4=a+((6-1)(-3) 4 =a+ (5)(—-3)
4=a-15 a=4+15=19
{19,16,13,10,7} : dolusl dasliel

tel
M=<X1+X2 Y1+Y2) LY
2 2 57,C

AC P M1 D 8 x

0= 7 B
—-34+19+5 -2 14 \ .
Ml_( 2 2 )_(z '7)_(_1’7) &=

A

BD caaiio M,

M _(2—4 7+7)_(—2 14)_( 1.7)
27\ 2 7 2 VA
ol Silgie (o9 ABCD il S48 2 4,8 1 2 3 4

N w -

[in

. X dasd u> A, B, C blgy)l wlaaie AO,BO, CO : 0131 yglxall Cliall § (A //2 o

mzA + mzZB + mzC = 180 180" G9luy liadtblg} £ 9axo
mzA + 45° +80° = 180° mzA + 125" = 180°
mzA = 180" — 125° = 55°

! LA ! 55 =27.5
= — = — X = _
X=z M=y

G los S Al 1Y) 531 (B
[1] 25Z2 — 10V2Z + 2 =7 a) (5Z + \/E)Z b) (5Z - x/E)2 ¢)(5Z2+2)2 d)(5Z-2)2
(b) g2 Sl 1l
2572 — 10v2Z + 2 = (52— V2)’
[2] 8y3 + 27 =? a) (2y + 3)(4y? + 6y +9) b) (2y — 3)(4y? + 6y + 9)
©) (2y +3)(4y? — 6y +9) b) (2y — 3)(4y? — 6y +9)

(€) g2 o
8y3 +27 = (2y + 3)(4y? — 6y + 9)
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§ (pgludio y2 4 25 = (K — 2)ydolasdl gydz Jasd G K cold) dad Lo (A //3 oo
0 = el OS13 Cmglude dolasl! @Jq 09 1 =l

y2—(k—-2)y+25=0 a=1 ,b=—-(k-2) , ¢c=25
b2 —4ac=0
[-(k-=2)]?-4(1)(25) =0 (k—2)2-100=0
(k=2)2=100 okl i il ol
k—2=+10
L k—2=10 k=10+2=12
9 k—2=-10 k=-10+2=-8
5! 6! e
4d u> (B
3Ix1! 5!x4!
HE]]
5! 6! (5@3)@2)) (6)(5)(4)(3)(2)(1)

1
3Ix1 5 5ix4 - @ADL BB x D@D DWW x7=5

1 o9bmall KA1 § A ggamall Llgil wbid dar 511 (LI A e Jloasiuwls (A //4 o
C+101" =180°
C=180"-101" =79

D+96 = 180"
C=180"-96" = 84"

7cm , 12cm , xcm :Edie § I aball Jgb e s dSye disliie iSI (B

: Joul
7+12>x 19 >x 19 o yiel SIWI AR
12 +x> 7 X>7—-12. = X>-5 5uboSloglasJassd
7+x>12 x>12-7 = x>5 5 oo AShedldl alall

5<x<19  t(p eIt alall Jsb o @) &Syl Lglaall

5— oo + 16x2 :411-"3“"6“:’3"‘6:‘*%‘3 ax?+bx+c :W|,nw|‘3;}a_a.a|,\:an <S1 (C
s J=dl
bx = 2+/(ax?)(c)
bx = 2,/(16x2)(5) = 2(4x)(V5) = 8V5 x

5—8V5x+16x? = (\/§—4x)z
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4 N 5 N 8Z
Z+2 7Z-3 72?-7-6

: By300 Jasals 3 Lo 51 (A /5 o0

4 5 8Z 4 5 87 4(Z—-3)+5(Z+2)+8Z
Z+2 72-3772-7-6 7+2Z2-3 Z-3Z+2) (Z+2)(Z-3)
47 — 12 + 5Z + 10 + 8Z 172 -2
- (Z+2)(Z-3) “Z+2)(Z-3)

o Jgb o . UK dayyo 805k o)l didaid sl I Caalad 3m gy 12migob Aaiuns sloew CuSge dakad (B
. 43,31
w2yadl X Jghall = Jubatuodl dlune : Joell
A =12 x 3 =36 m?
X = gyl g Jgbo (o,
A =x? dasds X adiall Jogbo = aopall AL
a3l Ao = Judatnal! Ao
x2=36 = x=+V/36 = x=16
6m 48,3 al> Job

(=1,3), (5, —2) caaiily Hlo) paienadl oo o8 A% Joo (ST 1 dmpmniall DoY) As1 (C

a) — b)—g c)% d)g
(0) g2 lgdll 1l
y2-y1_ ~2-3 _ -5 -5
M —-x; 5-(-1) 5+1_ 6
t Chioell Ayl plisuiusl R 3 plaid! J> de gazeo dx (A //6 o
X+2y=5 (@)
3x—-y=1 (@) }x2
250013 (@) Volao Qpad 1 J=l
6x — 2§ = 2 (@)
X+2y=5 (@) &=t
7
7x=7 = x=7=1

(@) Voo g x=1 b jog

=2 s ={(1,2)}

p—
+
N

<
Il
92
N
<
Il
92
I
p—
N
<
Il
-~
<
Il
N| &
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2sin45 sec45” + csc45 sin45 =2 : Gb b cui (B
} Aol deliad) ! 08 doed Jgundl oy 2 (Joddl
1 . 1 1 . 1
45° = = =2 ,c5c45 =——— =—=+2 ,sin45" = —
sec o5 1 V2 ,csc snds - 1 V2 ,sin %
N/ V2
L.S = sin45 sec45’ + csc45° sin45°

=(5)(2)+(¥2)(5)=1+1=2 =Rs

) dg‘)’l SJS.N dolel 090 oo nias> ooj_,fwd%lln ﬂa:-QbSS , ;WObe 49 Fgdiuo (C
H =]
!

(343 = 6) WS Sl sl

P(G)= i =E=E ;J{a}'d\gﬁ')bﬁ\w

5 lagegazes 8l slpas 2, shya> 3 Godinall § SII oUs ! sl yasell 8,01 Balel pus
ddiinll el pasdl ol Sl due 2
P(G after G) = — - ——
Ol suel K1 sue 5
P(G and G) = P(G) x P(G after G) Ol e sl

1 2 1
P(GandG)=Ex§=§
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o G L B 5 < ] - ilaieo Aaslall Aiadll
A5y — Sl s Lalall 2

Gile b SO ;i pl) - 4 Sl ¢ 3alall
b Haia¥l B8 s llall ol

.;\QJJY~ d‘:’udﬂjcmnﬁu‘wy%‘:w

’

y=x-2 ... (1) t omreaill A sk Jlastiy R (B Uil s A gane (A2 10
P=3=X ... (2)
2y*+4y  yrPyy-2

2 5y s dauly Y1 lasall SH(B

s ol s e b oo al s 20
—2n
{
n+l
(3,72) < (6,0) okl Hlal aiisall e s3seally (6,2) Akiilly jlall asiiall Aslee 2o (B
L (30) Aan Al A gl 3 Ll aa ¢ oliaf JSaN 3 (C

b oo dagliall Y1 el 3 gaall GiS)(A

K

N
.(S)Oadg]w)_;;ﬂge_,‘gcL')g.\.)’j&wdua‘.\.acﬁ.\;\‘_,s_)na_)ﬂl‘ﬁ)_hégﬁj&-A 3o
¢ f(x)=2x+1cus f:R—— R Gkl )< 13 (B
¢ g(x)=3x &ua g: R—> R Gulil,
L Seg(x)=19 : s 1(X)Aafan s M fog(x)=go f(x) & s

¢ saladl sl e ¢ (40777 lgtinlinas (B71) i lgu s 0 3253 Led pha 335 (A : i

1) 21-3x+35x* - 5x° 2)3x* —10x+8  : it ol Ja (B
3) 25—%;13
s ot e e 5 e a1 S
¢ oaladl (8) 0o 43S A (g e Apuled Aiad LA (S Ay 5l G (A
c0s30°csc60° =tan45° ; & .l (B
« (10cm) ot aetis 5 (8 em ) actis s (12cm ) Leakn I b JS dny ga d3aclG o a (C
. Aalall dfalie g dans 22

. |3x-12|>3 ohe ) piine o Jall de gane oy ¢ s &3 ALLED Ja (A 1 6oa

2
¢ opsliia Z +l6=(k-{i—4)Z :i.\.\la.dl,_:g)':%(_l,.__sj#_’m (k) CA,\L’:]\:\AQE\A(B
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:8) 900 Jaunl 31 yladall CST (B // 1 e

2y’ +4y y*+y-2 sl 4,k
y2_9 _y2+2y_3 y:X_Z ......... (c)
y:3_x ......... (e)

_2y2+4yxy2+2y—3
T y2P-9  yity-2 (@) Bstae § (@) Bolas 290

2y(y+2) _(@+3)y=1 Xt =
"G -3) Gray-D X+X=3+2
2y 2x=5}+2 = x=E
_y_—3 2
(@) Vslas 3x = 5 UP9
5 5—-4 1
Y 5
51
s=122)

_2 <
{n_-i-lll} rda el J gVl dunesdl 3guddl CaST (A // 2 oo
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Lgll puld U ool Sl 3 (C// 2 oo
(x) &yl

(6,2) daddy ylJ! Wl Aol u> (B// 2
Cdaddl Hledl eudunsd! (s ($3g0al9
(3,-2),(6,0)

X1 Y1 x, y»

(3,-2),(6,0)
Y2— W1
m:
1 _ e X2 = X1
msx = = (m A — m KN) 0+2 2
2 e~ —
mA = 360" — mKN 6-3 3
~ o o y -3 X1
mA =360" — 120" = 240 m=-—- : (6,2)
1 o o .
msx = (240" - 120) y —y1 = m(X—Xq)

-3
1 o ° —2:—- _6
msx =2 x 120" = 60 y 5 (x—6)

4y -4 =-3x+ 18
4y —-4+3x—18=0
3x+4y—-22=0

(5) oo ST ¢yl Rzg e pa0ua)l ggaces Jleil dor cBulg Bye 3N Sy (2 i (A //3 o
6 = J9V yoll pByf sue
6 = QW yoxoell pli)f due
N=6x6=36 dusslad
(5) oo J31 gyl Rexg e eadall §gaze0 Jlos!
E={(1,1),(1,2),(1,3),(2,1),(2,2),(3,1)} , m==~6

m 6 1

PE) = =366
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f(X) = 2x + 1 Eu F: R — R Gaaidl 0513 (B //3

g(x) = 3xcu>g:R > R @uhaidly
fog(x) =19 0513 x dasd ux @3 .3 ¢y 0 g(x) =gof(x) ol Jo

fog(x) =19 fogx)=flgx)]
flg(x)] =19 = f(3x)
f(3x) = 19 =2(3x)+1
2(3x) +1=19 = 6x +1
6x=19 -1 g o f(x) = glf(X)]
6x=18 }+ 6 =g(2x+1)
<=3 =3(2x+1)
=6x+3
fog(x) #geof(x)

S8aloradl Slasl Lo 40 m? iluny (3m) Hldies gy e 3 Ll sb Boloew (A //4 o

X = Bolxudl oy 2y
X + 3 8olxudl Jgb (2545
w2yl X Jelall = (ddaiuw) Balxuwd! d>lune
x(x+3) =40

x2+3x—40=0
x+8)x—-5)=0
LI x+8=0 = x=-8
9 Xx—5=0 = x=5m ooyl

Xx+3=5+3=8m Jekall
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- 13U b ol J> (B //4 o

[1] 21 — 3x + 35x% — 5x3 [2] 3x®> —10x+ 8
= (21— 3%) + (35x% — 5x%) =Bx-H(x-2)
= 3(7 — x) + 5x2(7 — X) [3] 25—%n3
= (703 +5x) - (125 n?)
= %(5 —n)(25+ 5n+n?)

§ poliet] (8) (0 d55Sie High (1 o Al A s (S Ayl 63 (A //5

n=8,r=5
n!
n _
Cr rl(n—-r)! ol
8! 8!
cd = =
5/(8—-5)! 5!3!
_8x7></(x/5!/_8x7_56
C5Ix3xZx1 B

cos30° csc 60’ = tan 45" 0l i (B//5

19l (pe Adliadl Llg3 oud Uz

1 2 \
/X V. a®\ Ay ¥
sin60’ 3 V3 > 5
2

o 3 o
cos30 = > ,csc60 =
LHS = cos 30° csc 60’

(D)@

RHS = tan45 =1

LHS = RHS
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-(10cm) &iln! dslilylg (8cm) 4slilyly (12cm) ks Jgbo JSEJI daye 5usld pya (C//5 o
FAwlnll il g doz> U

L=12cm , h=8cm,f =10cm

p=4xL (s yo) AL B AL s

=4x12=48cm ) Lo B=LxL ool dluss
1 - / 2
LA = EP X £ L) dmtial 12 X 12 = 144 cm
1
1 24 ‘,='—B><h - |
=jx 48 x 10 = 240cm? 3 )

48

1 3
=/§)</1/41><8=384cm

13x — 12| > 3 sluedl et o Joudl de gazmo Jiog bz 4l dialiiad! J> (A //6 o
3x—12>3 4 3x—-12<-3
3x>3+12 o 3x< -3 +12
3x >15 4 3x<9}+3
x>5 six<3

S=S,US, ={x:x>5}U{x:x< 3}
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Sogluin Z2 + 16 = (k + 4)Z Wolandl iz Jazs @I k colddl dasd bo (B //6

7’ - (k+4)Z+16=0

a=1 , b=—-(k+4) , c=16
b? —4ac=0

[—(k+4)]> —4(1)(16) = 0
(k+4)?-64=0 Aoy o By
(k+4+8)(k+4-8)=0
(k+12)(k—4)=0

L k+12=0 = k=-12
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